R 2 ke MREHhER %201 FD1)

(1) (i) fle)=z>+(4—2kp+2k*-8k+4 <.
CHy WMOIEDHG 28D D5
J(0)=2k?—8k+4>0
RE—4k+2>0
E<2—Z,24+/2 <k, ol (%)
(i) fla)=0 Dff% a, Blaxp) L &, REREOBRED
a+B=2k—4, af=2k>—8k+4.
fle) DfEIXE D L &, fla)=0 B8 d 2 S OEOFEHR a, B % b %M

D o hr—1>0 e T — o

4
<> E>2 ®)

a+B=2k—2)>0
aﬁ=2(k2—4k+2)>0 .k<2“\/§’ 2+\/§<k ...... ®

<> 24+V2<k<4, ()

——@—\ o

o /
g 4 4 |77, -
0 2-v2 2 2+yZ 4k

(2) Pa)kal—z—2 CHolL20Of% Q), KV % az+b L &

Pz)=(x—2Xz+1)Qz)+ax+b. - @

Plx) % 22— 2z TE|-7=i6% Qz) L b, Flot-0i —62—4 kb
Pr)=xzz—2)Q(z)—6z—4, - ®

®&b, F(2)=-16.

Pz) % z+1 THlo7=R0MN -1 L0, QIKRALT
A-l)=—a+b=-1, ®

P2)=-16 kv, @IZfRALT
P2)=2a+b=-16. - @

©®, @EAfFNT

a=—5 b=—6.
LEMRoT, Pa)dali—2—2 CEl-7-40%
—bz—6, oo (%)



TR R 2 BGABR MREDIES (201

S, =21 +3a,
1) n=1mtx a, =2+ 3a, < a;=-—1.
n=2mkx a1+a2=4+3ag <= —1+a’2=4+332
5
<> (12=—§.
. 5 )
LIEN =T, air==ly og—g, (%)
(2) Szz+l=2{n+1)+3au+l
-) S,=2n + 3a,
Sn+l_Sn=2+3an+1_3an
au+l=2+3an+1_3an
2a, 1=3a, —2
3 :
an+1=§an_14 """ (%)
3
(3) @&y

an+l_2:§(an_2)'

SnEY, (e, —2) e, 2= —3, A S OBEGIE

n 3 k—1
S

=—6<§)n +2n+6. - (%)

£D2)

LNk



R RT 2 GBR  MREpER (B*201 £0D3)

(1) yP<20 < —J/20<y<J20.
4<20 <5 Zli7- L, yi3EHCTHHND
—dgy<4,

LoT, ¥PS20 Ky i3,
dly Gy =8, ~15 0,12 3 2 F. e (%)
2 z=2mrx
y*=16 <> —4=<y=<d.
YIFEETHDND, =2 DL & 2P +y 220 AT Y i3,
el =B =2, =1, 0 1, 2 3 BHOE, = (%)
3) (i) =0, +1, +2 DL x
02’4 chrnd, 16520—22<20,
Lo, ¥ES20— 2% LT sky 1k
-4, =3 -2, -1,0, 1,2, 3 4 9.
(ii) z=323 L&
¥l <= —J/II<y<J/1T1,
3<KVIT <4 %=L, y B THEND,
z=13 DL x 2?+y <20 &Ky L, -3, -2, —1,0,1,2, 3D 7@
(iii) r=+4 L %
y's4 < —2=5y=<2.
YT THDENG, a=44 0L X 2 +y <20 2y i,
-2 —-1,0,1,2®5M@.
(iv) lxl=5 m & %
y:=—5 k0, ThewmdEky 37EE LRV,
(D~(iv) &, S22 oM (x, y) OMEE(S OBEROMEE) L
5X94+2X7+2X5=69 ., - (%)



FE RS 2 B MERHEH (BFE201 F0D4)
() F_Toz 2750 Ty>0 kv, ROBHEHES 1T ]
(z+\#
S=S 1 (2% +a¥dzx
=TT
rz+ﬁ s 2+ 2
:[%xs—l-azx} i ¢
L - \
1 1 \3 1\ 1 1
g1 G el o N A (R e G o
2
=dav/a + Ty
0
=da+fa + 2@ ...... (%) /
Sa L
2 g
(3) a>0 kv, 4ava >0, . \/_>0 T DD, (RN = (T8 & R L
2 4.6
S=4 4 —
ava + \F ava - e et
s R dava = ?=%@&%J\D
1
(l\/ﬂ?—w
=l
a>0 v a=L
X G
4
£ot,  a=gp 0Ly SOl WO )



